

St. Louis County, Minnesota



Date of Report: 5/6/2025 4:44:33 PM

			General De	etails					
Parcel ID:	235-0010-0)240							
Document:	Abstract - 0	Abstract - 01168211							
Document Date	. 08/03/2011	08/03/2011							
		Le	gal Description	on Details					
Plat Name: BALKAN									
Sec	tion	Township	F	Range		Lot	Block		
2	2	58		20		-		-	
Description:	SE 1/4 OF	NW 1/4							
			Taxpayer D	etails					
Taxpayer Name	B OBERG LA	VRENCE E & AN	/IBER L						
and Address:	5836 MCNI	/EN RD							
	CHISHOLM	MN 55719							
			Owner De	tails					
Owner Name	OBERG AM	BER L							
Owner Name	OBERG LA	VRENCE E							
		Pay	able 2025 Tax	c Summary					
	2025 - 1	let Tax			:	\$1,771.00			
	2025 - 5	pecial Assessme	ents			\$85.00			
	2025 -	Total Tax &	Special Asse	ssments		\$1,856.00			
		Currei	nt Tax Due (a	s of 5/5/2025	5)				
	Due May 15		Due October 15			Total Due			
2025 - 1st Half Tax \$928.00		2025 - 2	2025 - 2nd Half Tax \$928.00		28.00	2025 - 1st Half Tax Due		\$928.00	
2025 - 1st Half Tax Paid \$0.00		2025 - 2	2025 - 2nd Half Tax Paid		\$0.00	2025 - 2nd Half Tax Due		\$928.00	
· · · · · · · · · · · · · · · · · · ·									
2025 - 1st Ha	If Due \$928.	2025 - 2	2025 - 2nd Half Due \$928.00			2025 - 1	\$1,856.00		
			Parcel De	tails					
	COOC MONIN	/EN RD, CHISHO	DLM MN						
Property Addre	SS: 5836 MICINI								
School District:	695								
School District: Tax Increment I	695 District: -								
School District: Tax Increment I	695 District: -			125 Davable	2026)				
Property Addre School District: Tax Increment I Property/Home Class Code	695 District: -	Assessme Land	ent Details (20 Bldg	Total	Def	Land	Def Bldg	Net Tax	
School District: Tax Increment I Property/Home Class Code (Legend)	: 695 District: - steader: OBERG, LA Homestead Status	Assessme Land EMV	ent Details (20 Bldg EMV	Total EMV	Def E	MV	EMV	Net Tax Capacity	
School District: Tax Increment I Property/Home Class Code	: 695 District: - steader: OBERG, LA Homestead	Assessme Land	ent Details (20 Bldg	Total	Def E				
School District: Tax Increment I Property/Home Class Code (Legend)	: 695 District: - steader: OBERG, LA Homestead Status 1 - Owner Homestead	Assessme Land EMV	ent Details (20 Bldg EMV	Total EMV	Def	MV	EMV		



St. Louis County, Minnesota



Date of Report: 5/6/2025 4:44:33 PM

				Land Do	etails					
Deede	d Acres:	40.00								
Waterf	front:	-								
Water	Front Feet:	0.00								
Water	Code & Desc:	W - DRILLED WEL	L							
Gas C	ode & Desc:	-								
Sewer Code & Desc: S - ON-SITE SANITARY SYSTEM										
Lot Wi	dth:	0.00								
Lot De	epth:	0.00								
		ot guaranteed to be sur gov/webPlatsIframe/frm				e found at ions, please email <mark>PropertyT</mark>	ax@stlouiscountymn.gov.			
		li	mprovem	ent 1 Deta	ails (RESIDEN	CE)				
Im	provement Type	Year Built Main Flo		or Ft ² Gross Area Ft ²		Basement Finish	Style Code & Desc.			
	HOUSE	1940	1,23	38	1,601	U Quality / 0 Ft ²	1S+ - 1+ STORY			
	Segment	Story	Story Width Length A			Area Foundation				
	BAS	1	1	15	15	CANTILE	VER			
	BAS	1	8	21	168	LOW BASE	MENT			
	BAS	1	15	22	330	BASEME	NT			
	BAS	1.5	25	29	725	FOUNDAT	TION			
	Bath Count Bedroom Cou		Int Room Count		Fireplace Count	HVAC				
	1.0 BATH 3 BEDROOMS			-		-	CENTRAL, FUEL OIL			
		In	nproveme	nt 2 Deta	ils (DET GARA	AGE)				
Im	provement Type	Year Built	Main Flo	oor Ft 2	Gross Area Ft ²	Basement Finish	Style Code & Desc.			
	GARAGE	0	48	0	480	-	DETACHED			
	Segment Sto		Width	Length	Area	Foundat	ion			
BAS 1 20 24 480 FLOATING SLAB							SLAB			
			Improver	nent 3 De	tails (32X32 S	T)				
Improvement Type Year Built Main Floor Ft ² Gross Area F					Gross Area Ft ²	Basement Finish Style Code & Des				
STC	RAGE BUILDING	1992	1,02	24	1,024	-	-			
Segment		Story	Width	Length	Area	Foundat	ion			
	BAS	1	32	32	1,024	FLOATING	SLAB			
	Improvement 4 Details (9X20 ST)									
	provement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc.			
STC	DRAGE BUILDING	0	18	0	180	-	-			
	Segment Sto		Width	Length 20	Area	Foundat				
BAS 0 9					180	POST ON GF	ROUND			
	Improvement 5 Details (14X16 ST)									
Im	provement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.			
STC	ORAGE BUILDING	0	22	4	224	-	-			
	Segment	Story	Width	Length	Area	Foundat	ion			
	BAS	0	14	16	224	POST ON GF	ROUND			







Date of Report: 5/6/2025 4:44:33 PM

		Improv	ement 6 De	tails (BARN)						
Improvement Type Year Built		Main Fl	•		ross Area Ft ² Baser		S	Style Co	ode & Desc.	
BARN 0		86	54	864		-			-	
Segment Story		y Width	Width Length Are		Foundation					
BAS 0		24	24 36 864			FOUNDATION				
		Improve	ement 7 Det	ails (CRPRT)						
Improvement Type	Main Fl	Main Floor Ft ² Gross Area Ft ²			Basement Finish Style Code & Des					
CAR PORT 0		21	216			-			-	
Segment Story		y Width	Length	Area	Area		Foundation			
BAS	12	12 18 216			POST ON GROUND					
	:	Sales Reported	to the St. L	ouis County A	uditor					
Sal	e Date		Purchase Price			CRV Number				
08		\$135,000)	194441						
06	/2010		\$135,000)		-	90265			
		A	ssessment	History						
Year	Class Code (<mark>Legend</mark>)	Land EMV	Bldg EMV	Total EMV		Def Land EMV	BI	ef dg VV	Net Tax Capacity	
	201	\$35,400	\$140,30	00 \$175,7	00	\$0		50	-	
2024 Payable 2025	111	\$25,300	\$0	\$25,30	0	\$0	9	50	-	
	Total	\$60,700	\$140,30	00 \$201,0	00	\$0	ţ	60	1,703.00	
	201	\$35,400	\$128,50	00 \$163,9	00	\$0	9	50	-	
2023 Payable 2024	111	\$25,300	\$0	\$25,30	0	\$0	\$	60	-	
, , , , , , , , , , , , , , , , , , ,	Total	\$60,700	\$128,50	00 \$189,2	\$189,200		\$	60	1,667.00	
	201	\$31,700	\$104,80	00 \$136,5	\$136,500		ę	50	-	
2022 Payable 2023	111	\$21,100	\$0	\$21,10	\$21,100		\$0		-	
,	Total	\$52,800	\$104,80	00 \$157,6	\$157,600		\$	50	1,326.00	
	201	\$29,100	\$92,00	0 \$121,1	\$121,100		\$	60	-	
2021 Payable 2022	111	\$18,200	\$0	\$18,20	\$18,200		9	60	-	
	Total	\$47,300	\$92,00	0 \$139,3	00	\$0	\$	60	1,130.00	
		-	Fax Detail H	istory	ł	1				
Tax Year	Тах	Special Assessments	Total Tax Special Assessme		nd MV	Taxable Buil MV	ding	Total	Taxable MV	
2024	\$1,753.00	\$85.00	\$1,838.00	0 \$55,84	\$55,843		3	\$166,711		
2023	\$1,703.00	\$85.00	\$1,788.00	0 \$47,00)5	\$85,640		5132,645		
2022	\$1,163.00	\$85.00	\$1,248.00	0 \$40,97	70	\$71,989	9 \$112,959		5112,959	







Date of Report: 5/6/2025 4:44:33 PM

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.